



Unit Code	MA20216	Unit Title	Algebra 2A
Academic Year	2021/2	Examiner	Fran
Semester	1	Question No.	1-6
		Page	1 of 8
Part			Mark
<p>1. Show $U \cap W = \{0\}$</p> <p>Suppose $(1, 1, 1) = \lambda(1, 0, -1) + \mu(2, -1, 0)$ so</p> $1 = \lambda + 2\mu = -\lambda = -\mu$ <p>Then $1 = -3 \neq 0 \therefore (1, 1, 1) \notin U \cap W = \{0\}$</p> <p>$\therefore$ sum direct. [4]</p>			
<p>2. $u = \lambda(1, 0, -1) + \mu(2, -1, 0)$</p> $w = \nu(1, 1, 1)$ <p>\therefore need $(1, 2, 3) = (\lambda + 2\mu + \nu, -\mu + \nu, \nu - \lambda)$</p> <p>$\therefore \mu = \nu - 2 \quad \lambda = \nu - 3$</p> $1 = \nu - 3 + 2\nu - 4 + \nu = 4\nu - 7 \text{ i.e. } \nu = 2$ <p>$\therefore u = (-1, 0, 1) \quad w = (2, 2, 2)$ [4]</p>			
Total			



Unit Code	MA20216	Unit Title	Algebra 2A
Academic Year	2021/2	Examiner	Fran
Semester	1	Question No.	1-6
		Page	2 of 3

Part	Mark
------	------

$$3. W^\perp = \{ (x, y, z) \in \mathbb{R}^3 \mid (x, y, z) \cdot (1, 1, 1) = 0 \}$$

" $x+y+z$

$$\dim W^\perp = 3 - \dim W = 2$$

so basis is, for example, $(1, -1, 0), (1, 0, -1)$
[There are many others] [4]

$$4. \text{ let } \phi(v) = \lambda v \text{ with } v \neq 0$$

$$\text{Then } \langle \phi(v), \phi(v) \rangle = \langle v, v \rangle$$

" "

$$\langle \lambda v, \lambda v \rangle = |\lambda|^2 \langle v, v \rangle \text{ or } \langle v, v \rangle \neq 0$$

" " $|\lambda|^2 = 1$ [4]



Unit Code MA20216	Unit Title Algebra 2A		
Academic Year 2021/2	Examiner Fran		
Semester 1	Question No. 1-6	Page 3	of 3

Part	Mark
------	------

5. $v - w \neq 0$ \therefore by sufficiency principle

$\exists \alpha \in V^*$ s.t. $\alpha(v - w) \neq 0$ i.e.

$$\alpha(v) - \alpha(w) \neq 0.$$

[4]

6. Complete the square: $x_1^2 - 2x_1x_2 + tx_2^2 =$

$$(x_1 - x_2)^2 + (t - 1)x_2^2$$

Since $x_1 - x_2$ or x_2 are lin. indep,

Q_t has rank 1 exactly when $t = 1$.

[4]



Unit Code	MA20216	Unit Title	Algebra 2A	
Academic Year	2021/2	Examiner	Fren	
Semester	1	Question No.	7	Page 1 of 3
Part				Mark

7.(a) (i) let $v \in V$ then

$$v = \text{id}(v) = \pi_1(v) + \pi_2(v) + \pi_3(v)$$

$$\circ \circ \quad V = \text{im } \pi_1 + \text{im } \pi_2 + \text{im } \pi_3$$

To see that sum is direct, let

$$v = w_1 + w_2 + w_3 \text{ with } w_i \in \text{im } \pi_i$$

we show that $w_i = \pi_i(v)$.

Now $w_j = \pi_j(u_j)$ some $u_j \in V$ so

$$\pi_i(w_j) = \pi_i \pi_j(u_j) = 0 \text{ if } i \neq j$$

$$\circ \circ \quad \pi_i(v) = \pi_i(w_i) = \pi_i(\pi_i(u_i)) = \pi_i(u_i) = w_i$$

as required. [6]

(ii) We have seen that $\pi_i \pi_j(u) = 0$ $i \neq j$

$$\text{so } \text{im } \pi_2, \text{im } \pi_3 \leq \text{Ker } \pi_1$$



Unit Code	MA20216	Unit Title	Algebra 2A
Academic Year	2021/2	Examiner	Fran
Semester	1	Question No.	7
		Page	3 of 3

Part		Mark	
------	--	------	--

Linear: $\tilde{\varphi}(q(v) + \lambda q(w)) =$

$$\tilde{\varphi}(q(v + \lambda w)) \stackrel{\text{def}}{=} q\varphi(v + \lambda w) \stackrel{q \text{ linear}}{=} q\varphi(v) + \lambda q\varphi(w)$$

$$= \tilde{\varphi}(q(v)) + \lambda \tilde{\varphi}(q(w)).$$

[6]

Total	
-------	--



Unit Code	MA20216	Unit Title	Algebra 2A	
Academic Year	2021/2	Examiner	Fren	
Semester	1	Question No.	8	Page 1 of 3

Part	Mark
------	------

8. (a) There are several arguments. Here is one: for $\varphi \in L(V)$

$$\text{rank } \varphi = \text{rank } \varphi^*$$

[Apply rank-nullity to $\ker \varphi = (\text{im } \varphi^*)^\perp$]

$$v \in \ker \varphi \Leftrightarrow \langle \varphi w, v \rangle = 0 \quad \forall w \Leftrightarrow \langle v, \varphi^* w \rangle = 0 \quad \forall w \\ \Leftrightarrow v \in (\text{im } \varphi^*)^\perp$$

Apply this to $\varphi = \varphi - \lambda \text{id}_V$ then

$$\varphi^* = \varphi^* - \bar{\lambda} \text{id}_V \quad \text{or } \bar{\lambda} \text{ is eval of } \varphi$$

iff $\text{rank } \varphi < \dim V$ iff $\text{rank } \varphi^* < \dim V$

iff $\bar{\lambda}$ is eval of φ^* [6]



Unit Code	MA20216	Unit Title	Algebra 2A	
Academic Year	2021/2	Examiner	Fren	
Semester	1	Question No.	46	Page 2 of 3
Part				Mark
<p>(b) (i) $U^\perp = \{ (x_1, x_2, x_3, x_4) \mid \begin{matrix} x_1 + x_2 - x_3 - x_4 = 0 \\ x_1 - x_4 = 0 \end{matrix} \}$</p> <p>$= \{ (x_1, x_2, x_3, x_4) \mid \begin{matrix} x_1 = x_4 \\ x_2 = x_3 \end{matrix} \} =$</p> <p>$= \{ (\lambda, \mu, \mu, \lambda) \mid \lambda, \mu \in \mathbb{R} \}$ [4]</p> <p>$= \text{span} \{ (1, 0, 0, 1), (0, 1, 1, 0) \}$</p> <p>(ii) $\dim U^\perp = 2$ (spanned by two lin. indep vectors)</p> <p>\therefore basis is $(1, 0, 0, 1), (0, 1, 1, 0)$</p> <p>g.s.o: $w_1 = (1, 0, 0, 1) \quad \ w_1\ ^2 = 2$</p> <p>$\therefore u_1 = \frac{1}{\sqrt{2}} (1, 0, 0, 1)$</p> <p>$\langle w_1, v_2 \rangle = 0$ so</p> <p>$w_2 = v_2 \quad \text{or} \quad u_2 = \frac{1}{\sqrt{2}} (0, 1, 1, 0)$ [4]</p>				
Total				



Unit Code	MA20216	Unit Title	Algebra 2A	
Academic Year	2021/2	Examiner	Fren	
Semester	1	Question No.	8	Page 3 of 3
Part				Mark
<p>(iii) Orthoproj onto U^\perp:</p> $\begin{aligned}\pi_{U^\perp}(v) &= \langle u_1, v \rangle u_1 + \langle u_2, v \rangle u_2 \\ &= \langle w_1, v \rangle \frac{w_1}{\ w_1\ ^2} + \langle w_2, v \rangle \frac{w_2}{\ w_2\ ^2}\end{aligned}$ <p>o w_1 is $v = (1, 2, 3, 1)$</p> <p>o o $\langle w_1, v \rangle = 2$ $\langle w_2, v \rangle = 5$</p> $\begin{aligned}\pi_{U^\perp}(v) &= \frac{2}{2} (1, 0, 0, 1) + \frac{5}{2} (0, 1, 1, 0) \\ &= (1, 5/2, 5/2, 1)\end{aligned}$ $\begin{aligned}\pi_U(v) &= v - \pi_{U^\perp}(v) \\ &= (1, 2, 3, 1) - (1, 5/2, 5/2, 1) \\ &= (0, -1/2, 1/2, 0)\end{aligned}$ <p style="text-align: right; color: red; font-size: 2em;">[4]</p>				
Total				



Unit Code	MA20216	Unit Title	Algebra 2A	
Academic Year	2021/2	Examiner	Fren	
Semester	1	Question No.	9	Page of
Part				Mark
<p>9. (a) $Q = \alpha\beta = \frac{1}{4}((\alpha+\beta)^2 - (\alpha-\beta)^2)$</p> <p>and $\alpha+\beta, \alpha-\beta$ are lin. indep since α, β are. Thus Q has sig $(1,1)$ & rank 2.</p> <p style="text-align: right; color: red;">[6]</p> <p>(b) We had a diagonalising basis. Exploit the zero in (B_3) slot to see that $v_1=e_1, v_2=e_3$ is start of such a basis. o.o need $v_3=y$ with $B_{A_t}(e_1, y) = B_{A_t}(e_2, y) = 0$ i.e. $(1, 0, 0) \begin{pmatrix} 1 & 2 & 0 \\ 2 & 0 & t \\ 0 & t & 3 \end{pmatrix} \begin{pmatrix} y_1 \\ y_2 \\ y_3 \end{pmatrix} = y_1 + 2y_2 = 0$</p>				
				Total



Unit Code	MA20216	Unit Title	Algebra 2A	
Academic Year	2021/2	Examiner	Fran	
Semester	1	Question No.	Page of	
Part				Mark
$(0, 0, 1) \begin{pmatrix} 1 & 2 & 0 \\ 2 & 0 & t \\ 0 & t & 3 \end{pmatrix} \begin{pmatrix} y_1 \\ y_2 \\ y_3 \end{pmatrix} = ty_2 + 3y_3 = 0$ <p>∴ $y = (-6, 3, -t)$ will do</p> $B_{A_t}(y, y) = (-6, 3, -t) \begin{pmatrix} 1 & 2 & 0 \\ 2 & 0 & t \\ 0 & t & 3 \end{pmatrix} \begin{pmatrix} -6 \\ 3 \\ -t \end{pmatrix}$ $= (-6, 3, -t) \begin{pmatrix} 0 \\ -12 - t^2 \\ 0 \end{pmatrix} = -3(12 + t^2)$ <p>∴ A_t congruent to</p> $\begin{pmatrix} 1 & & 0 \\ & 3 & \\ 0 & & -3(12 + t^2) \end{pmatrix}$ <p>which has sig (2, 1) for all t.</p> <p>∴ no $t \in \mathbb{R}$ such that sig = (3, 0) [12]</p>				
Total				